Worksheet 5b

SHQ: How do | solve and equation with more than one unknown variable?

Look at the problem below:

Solve the problem...

i+i+i 30
D+ = 13

Before turning to page 2 of the worksheet, try and solve the problem by working out what

the values of each item could be.
There is a tip at the top of page 2 to help get you started if you need it.
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Tip:

Start off by looking at line one; there are three apples, they are the same object so they will
each be the same value. So, 3 multiplied by apple = 30.

Consider using an inverse : if we know 3 x something = 30, then we know that 30 + 3 is equal
to the value of that ‘something’

Solving the problem using algebra: Give each picture a letter (here, we have used the first
letter of each item so apple is ‘a’, banana is ‘b’ and so on. The question mark becomes ‘x’:

Answer:

a=30+3=10

b=(18-10)+2sob=4

To calculate ¢, we know the value of b (4) so 4 —c =2 so c must be 2

We now know the values of ¢, a, and b so we can find the value of x by adding them all
together which makes 16

Now look at the problem on the next page. This time, instead of pictures, letters are used,
but use the same strategy that we used here to try to work out the value of each letter:
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at+tat+a+a=20

at+ta+b+b=22

b+s+c+a=18

s+c+s+b =16

What are the numeric values of a,b,c,and s?

If it helps, on the next page, the problems are shown in picture form:



=19 =17 =18 =22

Answer:
Apple = 5,banana = 6, strawberry = 3, cherry = 4



